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QUESTION 1

Click on the exhibit below. 

Based on the output below which of the following statements is true? (Choose 2) 

A. VPLS1500 is a user VPLS. 

B. VPLS 1500 is management VPLS. 

C. Spanning tree BPDUs for the management VPLS are tagged. 

D. Spanning tree BPDUs for the management VPLS are untagged. 

Correct Answer: AD 

 

QUESTION 2

Click on the exhibit below. 
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Which port will become the alternate port? 

A. Bridge B 1/1/3 

B. Bridge B 1/1/2 

C. Bridge C 1/1/2 

D. Bridge C 2/1/1 

E. Bridge D 1/1/1 

F. Bridge D 1/1/3 

G. Bridge E 1/1/1 

H. Bridge E 1/1/3 

Correct Answer: A 

 

QUESTION 3

If a management VPLS is administratively disabled what will be the status of the associated user VPLS SAPs? 

A. Regular semantics will apply. It will be as if the SAP doesn\\'t belong to a management VPLS. 

B. All user VPLS SAPs will be disabled/pruned. 

C. It is not possible to administratively disable a management VPLS. 

D. Spanning tree will be automatically enabled on the user VPLS SAPs. 
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Correct Answer: B 

 

QUESTION 4

Port 1/1/1 has been configured as an access port with QinQ encapsulation. Which of the following three statements are
true for ingress traffic assuming default configuration? (Choose 3) 

A. sap 1/1/1:*.0 is a valid sap id. 

B. sap 1/1/1:100* will accept frames with a single tag of 100. 

C. sap 1/1/1:200* will strip the top tag of 200 and the bottom tag will be transparently passed. 

D. sap 1/1/1:0* will accept all untagged frames. 

E. sap 1/1/1:0* will accept any tagged frames. 

Correct Answer: BCD 

 

 

QUESTION 5

Which of the following statements is true? 

A. Filter Policies can only be applied on egress. 

B. An IP filter can be applied on ingress at the same time a MAC filter is applied on the egress of the SAP. 

C. Filter Policies can be based on IP, MAC, and VPI/VCI addresses. 

D. Any number of ingress and egress filter policies can be associated with a SAP. 

E. An IP filter and a MAC filter can be applied on the ingress SAP at the same time. 

F. None of the above. 

Correct Answer: B 
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